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1. Sievennä lauseke (
1
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− 1

7

)/(
1

14
+ 1

)
.

muotoon p
q
, missä p ja q ovat kokonaislukuja.

2. Avaa sulut
(3x+ 4)2 − 6(4x− 2) + 5.

3. Ratkaise toisen asteen yhtälö
x2 − 4x+ 3 = 0.

4. Ratkaise yhtälöparista {
5x+ 6y = 4

2x+ y = 2

tuntemattomat x ja y.

5. Ratkaise x yhtälöstä
72x = 4x+5.

6. Ratkaise x yhtälöstä
2 ln(2x)− ln(x) = ln(x+ 1).

Kaavoja
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, ax2 + bx+ c = 0 ⇔ x =

−b±
√
b2 − 4ac

2a

loga(x) = y ⇔ ay = x

loga(1) = 0, loga(a) = 1, loga(a
x) = x, aloga(x) = x

loga(b
c) = c loga(b)

loga(xy) = loga(x) + loga(y)

loga

(
x

y

)
= loga(x)− loga(y)

loga(x) =
logb(x)

logb(a)

lb(x) = log2(x), lg(x) = log10(x), ln(x) = loge(x), e ≈ 2, 72


